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3.1. S li n
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(h)

hóc 
trung 
bình 

- 0.6/100 24 0.144
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3.2. Ngu n gió

WTG cho trong 

WTG

Vcut-in Vr Vcut-out Pr, 
kW

4 m/s 14 m/s 25 m/s 1000 0,04

A = 0,12506; B= 0,06877 (m/s)-1; 

C = 0,00938(m/s)-2

gió (m/s) (m/s)

0÷4 1104 10÷12 1232

gió (m/s) (m/s)

4÷6 1355 12÷14 1124

6÷8 1490 14÷25 811

8÷10 1572 25÷35 72
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thái (có xét 
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0 0.1342 0.1635

15.71 0.1547 0.1485

103.29 0.1700 0.1632

265.91 0,1794 0.1722

503.57 0.1406 0.1350

816.27 0.1283 0.1232

1000 0.0926 0.0889
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1 0 0.1635 8760 0.163500

2 15.71 0.1485 8343 0.141431

3 103.29 0.1632 8214 0.153028

4 265.91 0.1722 7975 0.156769

5 503.57 0.1350 7838 0.120791

6 816.27 0.1232 3358 0.047227

7 1000 0.0889 1814 0.018409
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SAIDIk Chênh 

%
Không có

WTG
Có WTG

1 2.2842 2.2842 0

2 4.1244 3.6702 11.01

3 3.8244 3.3654 12.00

4 5.6646 4.9041 13.43

5 5.3646 4.5962 14.32

4.0218 3.5048 12.85
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